TR

op

3(x+1)

=N
©
N = ©
I Il
> >~
Q ©
=
~ |
N
= =
[a] [a\]
Il Il
N >~
© ©



Fod=t.

S

)
o

<k






e U3

_ — 2 -
S5 1 A mty = Sx+ 3Kt xFol| 7R A2 7

5



®y=-2x+3

x+3

@ y=-=

x+6

3
2

D y=

x+6

®y=

@ y=2x+6



L



=

3x—3y—-6=0 2 17

74

720 2

_.

Ul




AlA T, A4 (5, 2)E

Zofy =

b4y = dx -5 9] 713

[
=

8.

<t

|

=

Il

-

©

o ©

| |
= =
™M oD [0

Il Il
N >~
Q ©
[\ 0

| |
= =
— oM~ 0

Il Il

~ A~
@ ©



% ARGS y = 4x O THLE B FE 17

N
flo dlo

?

O y=4x+1 @ y-2=4x
4 2

® y=3x+- @ y=4x+ -
3 ) 5

@y+7=4x—?

=

7}

o
o



O y=2x-1

Q@ y=-x+1

1
® y:§x—2

® y=2x+2

@ ©,© ® 9,@

® 9,0
@ 6,6

® 9,6,



30
Soley.
® A (4 48 A,

ol
B
e

@ 71271 40t

@ 270

@ 1A
® 470

@ 374



12. =3 (-2, 3), (2. 4) & AvHe QA 40 mx+ny-14=0Y

W, m+n 9] gL Fotolet,

D S
=%



13. o= I == Zo]7F40em 1 2o &2 &9 § A3t A7Ht 1o
et g2 29 Aol Uetd Zoltt. & 2% §F 4k Alzke]
Zaslior H2 2] Aol7F 16em 7t HAETH

yl\
(cm)
40
(A1Zh)
[9) 5 T
D 1 Azt @ 2 A7t @ 3 Azt

@ 4 Azt ® 5 Azt



14.

02 5 gt y = —x + 42F FaPstar yHHo] 391 T 9o
Qe AHe?

@ (0, 4) © (3, 0) © (1, 2)

@ (2, 5) @ (-1, 5)

0.6 206 006 ®6,6 6066



15, WA x=0,y=1, x+1=0, 2y+4 =09 IH=2 F3#2I]
Lo Holx?

@1 @ 3 ® 4 @ 6 ® 8



16.

ax+by+c=0 _
g SR ESe - A
ax+by+c =0

Pt 2L, o] ARA A Hh?

O x=2y=4 @ x=4, y=-2
@ x=-2y=-4 @ x=2 y=-4

® x=-4,y=2

Ry



17.

DALy = ax+b o T2 A4 243y -2 = 0 2 Tz}
Gastal, A4 3x -2y -4 =0 y 5 FlollA] whdt} o] ofj, A4
ab 1 g a+b ol g7

\]
0]
[



18. A (-2, 7)€ ALk 20| A3 ALEEE ALk e ), o] AAle]
12719] H5:gke?

N

@ @ 2 ©)

| W



+2y) S Aoz Al H (0, 0), (1, 2), (2, 3)
o] YA fjofl A "k, old, a O FHE



20.

A (3, -5) & AL, LAy
O ot A Al

D ERE

q_

—x+49] Jjze} i
stofet,



21.

93} 2ol 71z Zol7} 30em , Azl 2

°17} 20em ¢l AAF2kg ABCD 7} 9lek. & P
7FCE S5l iz 2cm 2] £ 0= BC
g webd B7HK] 21Tk 5H, AABP ]
Wol7} 100em2 7} He AL A prt A o2
UL A E 2§70

©s5x % @623
@ 10xF ® 122 %

A ---30cm- _
/
!
20cm|
‘\
p
® 8z %




ol

22.

AFetro] F A4 3x4ay = y 43, 2x+ 5y = a— b ©] WA O] F53]

= M, a- b2 k2 F5tof=th

D S
=%

52 1o
o



e 3 3 o =
23. T QAFSy = Tx+ Sy =ax+6(a> 0 IRLYyFOoR
9

Zeel el wolrk 5 d m, A a o] $127

N w

® 2 @—g ® -1 @ 1 ®



HE 252 arel o 44](°C) = 3HY(°F) 2 Uehdch. £ 2@
A °C = 2(F - 32) © WALl BB AN ebd

H

277} S e bl £5 o] AT 2 B AL 4 2
]

O 93t 10 @ %9st20 ® 95t 30%
®



25.

et (-5, 3) =AM A4l 3x-1 =15 | FIY

ax-5=10 < W, a 9] 727

® -1 @ -3 ® -5 @ -7

® -9



